Inductive Reasoning
Practice Test 9

T — Question Booklet
Instructions

This inductive reasoning test comprises 25 questions. You will have 25 minutes in
which to correctly answer as many as you can.

In each question you will be presented with a logical sequence of five figures. You will
need to determine which of the possible answers best matches the next figure in the
sequence, or replaces a missing figure in the sequence.

You will have to work quickly and accurately to perform well in this test. It is
recommended to keep working until the time limit is up.

Try to find a time and place where you will not be interrupted during the test. When you
are ready, turn over the page.
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Which of the following repl the question mark in the sequence?
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Which of the following replaces the question mark in the sequence?
A B C D
O @ ®

A FAN A O AN

1 | d Ll

Q12
A B C D
AssessmentDay 7 www.assessmentday.co.uk




Q13

“n

N4

i

Q14

Which of the following replaces the question mark in the sequenca?

A

C

“u

N4

‘u

N4

AssessmentDay

www.assessmentday.co.uk




Q15

ORCOm
OEEn
OoComQO
EEER
ECENR
OmmO
OmmEn
oooao
OmmQO
EEER
OmRCOm
=g _g=j
EECOE
OomQOm
EERCOE
OmmQO
mECOEN
ECONm
OomOn0
EEEN

OO mO
OmCm
EEEN
EEEO
OocomAOd
OCOmm.
EEEN
EEERO
OoComQO
O EN
OEEn
HE N[
ocomQO
EE N[
ECOEN
EECN

Q16

Which of the following replaces the question mark in the sequence?
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Which of the following replaces the guestion mark in the sequence?
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End of inductive reasoning test 9
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